oju

1.

A

ol

o|J
~

o}
B

)




@ 2x32x7

B 22%x3x7



3. F 30,759 FFpTE a0 Tt D, x o Fhe FohH?

D 11 ® 12 3 13 @ 14 B 15



bzl Zol7} 16em , A2 2] Zol7} 12em , 017} 24em <1 A4
AL TS PFOR o HolA]

BAERAE TS o, o] WA T 7P A2 A0 §F Ao

pd| o]l:‘)

= .

@ 36cm @ 48cm ® 72cm

@ 96cm ® 144cm



5.

(_1)2011 % (_1)2012 % 12011 % 7_”/\

D 2012 @ -2012
@ -1 ® 2



e F AL Aat oA Yot e sk

@© (-6)x2=+(-4)
® 18+ (-6)
® 27+ (=3)=(3)






@ 2ax(-4)
2 16
@ 2+ ()

W, Akape] A4t oA ik e S

@ 16x+(-2)

5
@ —5QT§

@ gax

(

40
3

)



9. x=52T41, y—223+1°1‘1ny 2 2] 9] 401717

® 2472 9 @ 257 9] & ® 2672 o %
@ 27AFg] o] = ®) 28 2}a] o] 2=



10.

ol A4 100 & LrH 4 7F ¥

giet.

D 16

olelgt Aol

® 18

Fol 4 1 2 7l

B 24

, 70 & e

/\_E__
T =

@ 39

]_

@

ol &

B 48

=l



£9)

& WA
Akgre] 214

=l 1
O]'t‘

2 stk o

o %

0
= Tio




ol

7} ohet,

©) O<x£131
3
— 11

®0<x<

@ x<
3
11

@ 0<x<

D x<



“l<a<0¥ o, ct

13.



o
T
i
jille
ol
8o
rlo
i)

@ 0.la+b=

@ x+y=+3=

\3"\*@‘8
Q

fijo
Y

R
ru



15. A=<— >><§ B=(—6)+%°1 T, 2A + AB 9] gh2?

oo

@% @ L ® 2 @ 4 ® 6



o, a+b+c 2 G2

SH
=

c 2t

0 |

0 |



17. o) A4 —x + 2y § #olo} shul] @Rato] cokglell x4y
7} =]t} o] W HE T-& JL5HH?

®5x+7y ®—5x+8y ©3x+8y

@3X—8y @5X—8y



18.

A a O F50] AHE f(a) o2 F W, £(30) x f(x) =

WS 7)E A A 244 x o] 3hed

@D 2 ® 3 3 4 @ 5 B 6



19.

230 24 7], A% 7270, 197 48 S HES WL 5

Lpirof 2ol ghe, of 1, g SAgo] B B
M1 Fateler

YR 4l



20.

4= UFH 30l e

A5 FAA 7V

R

s
=¥

rr



21. 1 5¥ 50 74A] 9] A4 gl—,}%l}
A2 ol (1, 2, 3), (2, 3, 4), (3,
2w, Al 2] gol 12 o] Hl4e) Fg o] &

4,
=

S EE 7

5),

o] ;8= Al Aol 44 Frof

, (48, 49, 50)
0}043}



22. a, b, ¢, dEARHE AT 5 B W82 Bila, b, ¢, d
of ti& BAE &A1 vErd A27

H7]

A |bl > |d] > a> || O axb<0

© axd>0

D a<b<c<d @ d<c<b<a ® c<b<d<a

@ b<c<a<d ® c<b<a<d



23.

x<0 o, 4x|x

S ER
=%

-3X|—x|-



24.

@A( ) B 7} 9lt}. = Aol ;eH(
sk P Afele] Aelg Fatelet,

1
24

)



25. the= ALtsteiet
1424 (=3)+(—4)+54+64+(=7)+(=8)+- - - +97+98+(-99)+(-100)

e =
-



